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answer. The candidate has to hand over the OMR Answer Sheet and the Question Booklet to the invigilator and
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tion. All questions are compulsory.
1.

Effective way to know about a
student is

(A) evaluation

(B) play

(C) visit his home
(D) observation.

What will you do if a student is
repeatedly teased . by  another
classmate ?

(A) Punishment of the classmate
(B) Separate sitting arrangement
(C) Counselling of the classmate
(D) Call the guardian.

How can teacher identify brilliant
students ?

(A) On their examination result

(B) Observing their classroom
behaviour

(C) Getting family history

(D) Based on the relationship with
other students.

What is the best way for a teacher to
maintain discipline in the classroom ? .

(A) To assign group tasks

{B) To lecture about the need of
discipline

(C) To- lodge complaint with the
headmaster

(D) To impose strict punishment.

[ P.T.O.
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Cause of failure of students is
(A) lack of memorization power
(B) not to strive for assimilation
(C) absence of frequent tests
(D) not to follow the teacher.

Who is known as the father of child

centric education ?
(A) Dewey

(B) Froebel

(C) Montessori

(D) Rousseau.

Who conducted the factor analysis of

intelligence first of all ?
(A) Thurstone

(B) Gardner

(C) Carroll

(D) Spearman.

Reading of literature is essential for

children because the child
(A) acquires knowledge

(B) dcvelops' imagination
(C) acquires difficult words
(D) builds character.

Individual differences occur among

children due to
(A) heredity only

(B) environment only

- (C) growth

(D) combination of first two.
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11.

12,

13.

14.

What may be the probable cause of
mistake in writing the same spelling
repeatedly ?

(A) Learning disability

(B) Low vision

(C) Tendency to commit mistake
(D) Low intelligence.

As a result of cooperative learning
among the learners

(A) learners become self-reliant
(B) all learners learn equally
(C) learners’ motivation declines

(D) they do not feel the needs for
teachers.

Which one is correct ?

The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily
(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the
learners ?

(A) By never imposing punishment .

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody

(D) By advising them not to be
anxious. -

The way of teaching the learners
about environment is

(A) to get them acquainted directly
with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.

[P.T.O.
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18.

19.

20.

According to Vygotsky

(A) culture is the outcome of
education

(B) culture is the tradition of
education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor

of learning.

Modern education systetn is

(A) curriculum centric

(B) child centric

(C) bookish

(D) teacher centric.

What is meant by concept ?
(A)  Specific knowledge

(B) Judgement

(C) Picture

(D) Imagination.

In which stage of life development
does child start to speak ?

(A)
(B)
(C)

Infancy

Late childhood
Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(A)
(B)
(€
(D)
Concept formation depends on
(A)
(B)
(C)
(D)

language
isolation
observation

independence.

learning
transfer
vision

imagination.
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22.

23.

24.

23,

What is the duty of teacher in

generating motivation among the

learners ?

(A) To advise the learners from time
to time

(B) To rebuke
mistakes

(C) To accept the level of success as
one can attain :

(D) To maintain very high standard.

How can the interest of the learners

be maintained ?

(A) To deliver good lectures

(B) To cite good examples from the
text-books

(C) To cite examples from the
learners' familiar environment

(D) To check studies everyday.

The knowledge of learners' emotion is

essential for teacher. One of its

reasons is, teacher can

(A) remove anxiety of the learners

(B) control anger of the learners

(C) keep the Ilearners quiet by
threats of examination

(D) stop amusing behaviour.

Which one of the Acts is not related to

inclusive education ?

(A) Right to Education

(B) Prevention of Child Labour

(C) Prevention of Corporal’
Punishment

(D) Custody of the Special Need
Children.

What is the meaning of

comprehensive evaluation ?

occasionally  for

(A) Evaluation of the whole
curriculum

(B) Evaluation of all-round

~ development

(C) Evaluation of the whole
intellectual ability

(D) Evaluation of all students
simultaneously.
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Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest

(D) development of spatial
reasoning:

Which one of the following is not
related to creativity ?

(A) - To think quickly

(B) To perceive relation between
impossible things

(C) Work hard continuously

(D) To solve problem in a novel way.

How can one understand the extent
of student's learning readiness ?

(A) Spontaneous interest

(B) Correct answer to the teacher's
question

(C) Requesting teacher to dictate
notes

(D) Completion of home task
regularly.

In examination copy most of the
students have committed error in
answering a question. What may be
the probable cause ? :

They did not pay attention in the

(A)

~ classroom

(B) They did not study it at home

(C) The language of the question
was not proper

(D) The teacher did not say that it

was important.
Sometimes the first generation
learners may be inattentive in the
class, because

(A) there is none to help at home

(B) has to perform many household
work

(C) there is lack of effort in studies

(D) difficulty in understanding the

teacher's language.
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SECTION - II
Language - English

There are 30 questions in all in this Section.

All questions are compulsory.
Part - A
Direction : Read the following poem and answer the questions (31/ 61 — 37/67) that follow :
Futility

Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow.
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke, once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir ?
Was it for this the clay grew tall ?
__ Or what made fatuous sunbeams toil

To break earth's sleep at all ?

31/61. " what made fatuous sunbeams toil ..." is an example of
(A) synecdoche (B) periphrasis
(C) personification (D) simﬂe.
32/62. The general tone of the poem can be described as
- (A) sad and tragic (B) full of mirth
{Cj satirical (D) humorous.
33/63. The meaning of the line "Woke, once, the clays of a cold star” is

(A) broke the cold star into pieces”
(B) brought life into the cold planet now called earth
(C) made the clays of the planet

(D) made a cold star warm.

577432 ' [ P.T.O.
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34/64. If anything is capable of awakening "him" it is
(A)  the warmth of the sun (B)  the sun alone knows
(C) the cfayltght (D) the morning snow.
35/65. The poet "urges to move him into the sun " because
(A) it is warm : Bt woke him once earlier
(C) it is day-time (D) it will ease his pain. '
36/66. The sun "always" woke him in
(A)  England (B) India
(C) Italy (D) France.
37/67. "Was it for this the day grew tall' — is an example of
(A)  metaphor (B) metonymy
(C) chiasmus (D)  alliteration.

Directions : Read the following passage and answer the questions (38/68 — 45/75 ) that

follow :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve

Is Franklin W. Dixon; the Nancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dixon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a Speciﬁc; formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published

convert it into a book slightly over 200 pages. Once Stratemeyer approved the book, it
went to the print. . ' ;

influential. He was a Canadian Journalist by the name of Leslie McFarlane. A few years
later Mildred A. Wirt, a young writer from Iowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves. Wirt
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had been a star college athlete and gave Nancy a similar ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the books in their children's collection.
Ironically this decision actually triggered the sales of the books. '

Regardless of the controversies about their literary merit, each series of books has

exerted an undeniable influence on American and even global culture.

38/68.

39/69.

40/70.

41/71.

42/72.

577432

Some teachers and librarians objected to the ghost writing series because they

(A) disapproved of mystery stories

.

(B) thought that the books were too expensive
(C) believed that the books were not quality literature

(D) disliked the business practice behind the series.

Which of the following describes the author's attitude towards the series ?
(A) Balanced and respectful (B) Doubtful and critical

(C) Hostile but forgiving (D) | Overwhelmingly appreciative.
A ghost writer is someone who ‘

(A) writes‘about ghosts and strange events

(B) does not receive credit as an author

(C) invokes spirits and supernatural elements to write

(D) takes lot of money for writing.

What does the word 'surmised' mean ?

(A) Guessed (B) Qﬁestioned \d
(C) Knew (D) Surprised.

The Hardy Boys and Nancy Drew series were created on the idea that

(A) mystery books for adults are popular

(B) children enjoy reading about characters they can relate to

(C) girls and boys are not interested in the same thing

(D) the writer needed money.

6001 ' | P.1O.
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44/74.

45/75.

Direction :

46/76.

47/77.

48/78.

49/79.
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According to the passage the Nancy Drew mystery series was introduced in

“(A) + 1927 (B) 1925

(€C) 1929 : (D) 1‘930.
Which would be the appropriate title of the passage ?
(A)  Ghost Writing : A Way of Life
(B) The Dubious Yet Profitable Practice of Ghost Writing
(C)  The Hardy Boys and Nancy Drew : A Ghost Writing Series
(D) A Critique of Ghost Writing.
Who was the real writer of the series according to the passage ?
(A) Carolene Keene : (B) Franklin W. Dixon
(C) Leslie McFarlane (D) Hardy.
Part - B
Answer the following quéstlons by selecting one option :
Effective Iezirning takes place when the students are
(A) quiet ' (B) obedient
(C) interactive (D)  preparing for examinations.
A teacher can best develop communicative skills with the students by
(A)  encouraging to speak in that language continuously
(B) giving dictation
(C) correcting grammar and spellings
(D) . giving students homeworks in that language.
While communicating ideas in written form grammar has
(A) akeyrole (B) no role
(C) liberal role (D) none of these.
Key principle of language teaching is
(A)  to motivate the students in the process of learning
(B)  to facilitate the learner-centered classroom activities
(C)  to maintain discipline in the class

(D) to show the teacher’s mastery over language.



50/80.

51/81.

52/82.

53/83.

54/84.

55/85.
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In a language-teaching class the primary skill(s) to be developed in children is/

are
(A) Listening (B) Speaking
(C) Listening and Speaking (D) Writing.

A multi-lingual classroom is

(A) students with different mother tongues

(B) students coming from different regions

(C) students with different cultures

(D) students with different social baékgrounds.

How can language comprehension and proficiency be evaluated ?

(A) By evaluating all the four skills in different periods of time throughout the
course '

(B) By evaluating all the four skills at the end of the course
(C) By evaluating only reading and writing

(D) ~ By evaluating only speaking and listening.

What is the main challenge of teaching language in a diverse classroom ?
(A) Facing slow and weak learners

(B) Facing a mixed-ability group of learners

(C) Facing infrastructural problems

(D) Facing the good students in the class.

While using problem solving method the teacher should

(A)- participate actively in the process

(B) encourage divergent thinking

(C) ask the students to consult their parents

(D) look at the students' activities from a distance.

Gender stereotypes can be discouraged by

(A) helping the boys to accept failure

(B) encouraging girls to take up sports

(C) asking girls to arrange for the snacks in a class picnic

(D) encouraging girls to take up challenging jobs in life.

[ P.T.O.
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56/86. Abstract intelligence tests
(A)  verbal skills
(B) manual dexterity
(C)  numerical ability
(D)  manipulation of symbols.
57/87. Today emphasfis should be given to
(A)  electronic gadgets used for teaching-learning process
(B) chalk-and-talk method of teaching-learning process
(C) iearning through foreign colléboration
(D)  value based teaching-learning process.
58/88. ‘Overlearning' is the term used to describe
(A)  practice that continues after a perfect recall hés been achieved

(B)  the practice of learning over and beyond the requirement of a particular

class / age
(C) the practice of spending too much time on studies
(D)  the practice of overburdening the students with tasks.

59/89. Tasks to improve spelling should not include

(A) reading {B] listening

(C)  writing _ (D) use of dictionary.
60/90. Giving dictation is not useful for

(A)  learning the correct form of the language

(B)  developing language skills

(C)  developing short term memory

(D)  helping students to spell correctly.
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Section - II

Language - Hindi
=g faum & Fa 30 7w § | |eft v st € |

There are 30 questions in all in this Section. All questions are compulsory.

frdwr

Part - A
freffiad Tei et SEF SUR W fau T yw (WA §en 31/61F 39/69 T )
¥ IR F fou g= 3faa fawey A :

foraaT &1 9% o gd 9 ¥ T oA & fa e & A el 1 56 9w B w9
S TR ¥ FF SRR ¥ folu it Wga HHfEs WA WHEREE ¢ — "R I
T & S 3R A S @ A @1 $iR SR 9% THa € ¥ 3o @ ) 9 9| q@
fifee & B S Ao WATRIgES e S SO e § Se foe 9w o e @
fored s o € o fored o 3 ¥ 9@ @l O S § | FA H q@ T/
TR TEAT FIfET fF 9% 9gd FH AW S €, A9 g ey § 9% wgd A © i 3w
sRaTd TEE A A e 9 g § | 3% 59 9w % wE T et fF 9w o @t
wmﬁ,@%mmmﬁ@mwwﬁ,amﬁm—m%m
v ¥ | A 9N GON, 51§59 76 £ ok S $9 TN ¥ — ¥R W, TEd S,
FaR S, TR N, TER U ST e I 9, BHR 9gd @ oY, 3R o T e T
o Y AR THE FA € foF TH SGA A H TH @A Ay | o ¥ 7 Sty
mﬁﬁ%ﬁﬂqueﬁmﬁ%m%ﬁvﬁmmmmm
wa1 Tie B W 2, fores HRo agd F awd ot 99 @ ¢ ol s ved W we /e
a1 w1 Froty T T TR | T 1 g1 SHE o7 € e H §, 3/ a7 W e o
ST R S FE ¥ 5w g # werw feofd % e st T oy e €

31/61. T Fq1 e wdia FE Aed § ?
(A) HARHSEIH B)  awaqul
(C) TARIIE® (D) faenfaargei |
32/62. IcA-wAR & forg e
(A) mﬁa@mwmﬁmgﬁaﬂ?wmﬁﬁmwm
(B) 7oAt HErR | Al
(C) foraan &1 SHaER T
(D) A9 AT i Y T |
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33/63. 3cHEERR & foau savas @
(A) 3eH-HHter (B) Fg«n
(C) wHfgs Ta=ar (D) 39 Q gt |

34/64. tlwarm mﬁfwﬁﬁ:%

(A) TH: + FEYEF (B) W + a¥Eh

(C) UTH + sTEvIH (D) TH + EYEF |
35/65. 'ANVHM' vt § SuEn #1 -1 feen 9E € 2

a) Ay + A | B H+ ﬁqﬁﬁ

€ =9+ ¥m (D) W + 3 |
36/66. TEA T H IYGH IvE & _

(A) B  famr sl we

(C) TeR-wAfer SR e (D) fodwar &1 7E™ |
37/67. T B ¥ T 1 41 &ftvr &) s & 2

@ . | (B)

(C) H&ey ‘ (D) fEE
38/68. ' H-HHR' § YgF A ¥

) FHYRE B &1

(C) dqew (D) 58|
39/69. ‘Tdd’ v &1 faudiaids weg &

A) A (B)  arefwar

(C) FrwTemet (D) TS |

577432 [ 6001 |



23

fdwr:  frefafen i wga sa% smuR W feu Tu e ( 9vR dEn 40/70 R 45/75 9% ) F
IW & forg w8 3fea famwew gfw .

‘o1 A e g H g | T,
T e H S o1 w1 E
A FETEA TR T 7 g,
37TV ITATIA HIH 3 @I E |
Hedd § AN 7% IS W@ TH,
Gy | fogtat ged @ |
A TR T H IS T g
3T U T TEE 37 W@ E
40/70. &G g § dF w1 g sef § 2

(A) TG H g E B) wRgH g

(C) =@ & (D) feame g |
41/71. %fa € 1 FEl € 9= W ?

(&) e § | B) e T F

(C) &l gd &7 e ® (D) WH F T® W |

42/72.%%9%%&:%%%@%%{@%?
@) St st aftE §
(B) < sga ufigH €
(C) < Sfted i HSR ardfaharei 4 J@er §
(D) i ST T FHerEAl Hl G wed § |
43/73. ®fa AT H FE SE AT ® 2 _
() e & e g9 w
- (B) T AT § wfqefiern o1 W SR 9 wfd & ug W M W 9E
(C) g & T § gHie
(D) =& %fa 1 qfaa ¥ |
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44/74.'%%?@%31‘21:[@11’_
i F-T ST ¥ 2
&) v (B) UM
© w®IH (D) I |

45/75. Hadl &1 SIgH Y¥F & Thal §

@A) wd (B) whicied
(C) ATH™ (D) wmfa |
Part - B

fder:  frefafas gl & S % foe we9 393 fasweq 9]

46/76. WAt TR T ST o S et ¥

(A) TSI FOTE (B)  \HaTA WoTedt

(C) ~mw e yomeft (D) AT onet |
47/77.a€mﬁ§mﬁwaﬁ=ﬁwmmﬁ§qw§a%|ﬁ§uﬁ%mmwaﬁﬁ?

(A) T TF FES iR wniaeE uhma B 5 e § (i’ wgs gt w1 o S

(B) VGl I §H-TH SR Wel qiah ¥ ferad ¥ forg e

(©) == IR qfeA H HEHE FAN

(D) T T A W e T A e wmd
48/78.%&41%@33’%%11&%1’1%%%,mﬁﬁ?wﬁmﬁgaﬂ%%mwﬁ?

@A) = A weN fF A g ¥ e @Y S H

(B) o= & Hia-fyal ) gl 3T AT FAA Hl Fedl

©) aﬁﬁaﬁmw—maﬁﬁwwmawmﬁﬁﬁ

(D) ZTA9 | gt |
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49/79. Sl 1 WiHT IRHV fFH FEd © ?
@A) T o= *1 o7 7= S §
B) f97 =g @ == ufifaq €
() o= w=i =1 Wi 7= e §
(D) fom wrsdl 1 3%l =4 T & SR wEm A ¥
50/80. a1 H HEA & &% siaren g9rEqul 9ftedq &
(A) =EER H gfiEdd B) H ygfaal # qfted=
(C) =afwrmma Jromsti # uftad (D) 370 4 i T |
51/81. T& GHEEN Fai | HiF-91 HeA - foeor & fagial & wfaga & 2
A) = & fam foem | o= &1 ume-fasrg s @ g
(B) == qRE® | W Aol 1 UVl HIA §Y HIE-FA k| 99 ged ©
(€ v ufEw # w Afia =t S §
(D) T¥e-wqg WRlE v HiE § |89 &l ¢ |
52/82. WU TR W 'GEAI-sier1’ wivd & fahe § -6t fafuar sifis gems € 2
(A) wEH-®HYA R gao@
(B) Hfgar-uia R 9roT-ZTemen
(€) 9fusr-fraie ( Ta-=1 ) IR gH=ER-ar=A
(D) Yfyer-frafe SR ara=ta & |
53/83. Tl H WIWI-YaTg T ifcheh Ve o1 oAk i ¥ SIGH ©
) fafea wernd B) difas am@tem
(C) waferia wigm | (D) ¥T7H ¥ & T |

54/84. fHas® FATUR ' qodiwd 9% Wi ® fS9F g 1eaes 9 9 39 o &1 fof & € 6 frem
¥ wedi ) T R 1 @ ¥ W A 2

(A) FTEE F B =HES
C) Ts™& (D) T8 9 %K &l |
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55/85. W3 # feu My fosi &1 w1 s2vg A 2

@) fo ongd dweamielt # ane A gerd e #

B) o=l ¥ wreugms sFdE S

(C) fo=t 9re =t v wgm €

(D) TeTgET & fot &3 71 e & |
56/86. fr=faifad @ @ % s e gers arnft # wedidifen anm 72 & 2

() =@t . B) g

) e (D)  WISIgES |
57/87. 771 ¥ 4 =11 Ivamres wrw- Rieror g w wue 96 & 2

(A) #}mmmmﬁmwm%?ﬂmwﬁtﬁmqm

(B) HSF I WSIYEIH HI YARYU TF F TgA

(©) e 1 Ygd w9 Tt G i @ yam

(D) 399 9§ |t |
58/88. TF ey 1 W g ¥ 1 F 9 T weem =51 WA wwerg e =few 2
(A) U H (B)  HM dieTETe F
(O vEHYEE : (D) 9% YBH FH |
59/89. TEel Fell H GgAaTe TE1 R ‘T’ AR V] F1 IARV Tord T @ FR T ) ¥ F a0 w4
F4T ?

@) AT A W= F o Do g F forg 2

(B) 1 H ‘3 A Wl W A -1 e F forw R

C) =& = 'S’ A wedl I g &

(D) w3 '3’ o1 Wl A WS WIE H IHh THE YA HX T Sy Ser H sy Feh |
60/90. ' =R R aun difaw g € 1" '

39 FY9 9 A9
(A) Yo HeHd § (B)  3ivd: 9eHd §
(€ faega wewa = € D) HEE s sk T s |
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fawmT - 11

WTET - ATt

Section - II

Language - Nepali
74 faurm ST 30 921 W g1 | 99 UveEs! S fe e s

There are 30 questions in all in this Section. All questions are compulsory.

Part -

A

A. - Trefafed geiw vt Sifaust (31/61 - 35/65 ) TEEH T8l S BT :

‘T BRI | A wfa W | st sifar W gmeRt Aastfyerm SR S @iven g0 @ ufedfs

TrETeERl e afte 1
31/61. ‘TEme’ — & 7 F 7 ?
W i
(©) e fereent

32/62. ‘qasrfyara’ — @1 3¢ % B 2
(A) T4 T=
() e wgfa
33/63. 'T@EMa’ F W 7 ?
(A) TEH
() <vrs
34/64. ‘M’ FEl = B ?
(A) ATHEET

©) 3ug
577432

(B)

(D) -

(B)

(D)

(B)

(D)

(B)

(D)
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qEH IE |

LEACES
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35/65. ‘d' % 769 & ?
(A) 38 TEN (B) HYHH Y9
(C) 3= qey (D) Tﬂmgmf
B. ﬁmﬁf@amqﬁ@fm.(%/%-%/?mwaﬁwm:

TEAM TS AT MR YA eEE gt e | Hde Fwie s geE
T, fafen grargE s geasa MR sieH TEE W Ul fawm | et sEe e
fEamt faiy M, e Medd ffwm M | W iedd e e FeT Y — g3 e
FEefE TR M TR TEYd el Sish | TRl IRgol Segi-geT, I, T, S
@ gE! US| A% HAfed @Y Wig 9R-3Ey, Hel SiEe gudl st | Thuee
_W@Wﬁmﬁuﬁv—*ﬁwm@mmwﬁmﬁwdm'
e TR — A e TR T fe g '

Tﬂ*ﬁﬂﬁ@fﬁ%ﬁ@?ﬁﬂﬁﬁ?@ﬂ?ﬁﬁ%ﬂﬁﬁﬁ?@ﬁﬁéﬁﬂﬂﬁ%ﬁﬂfm
FRO F9H ‘G gl W | S S e SRdAaeEerd "e e
HTEANT SIS Y T WK HIAT S Ul "Il R SR v M|

36/66. ‘faensi’ vegHl F7-F9 W JUiF HA B ?
(A) 31+ & | B) A+
€ ¥« o (D) aM+3 1
37/67. ‘' 3TEedm’ weeH ‘' FH TIH YA IR T 2
(A) TTF (B)  39gi
(C) & (D) HRFHR |
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38/68. Mg foha At geqa™ wfHuat € ?

() T SRS A T
(B) W&ﬂmﬁﬁmmmwmm
©) W&ﬁ%ﬁ#ﬂﬁﬁmwu@ﬁ
(D) ﬁ?ﬁﬂ?ﬂswﬁgﬁmﬁf
39/69. faw wfaaeht waFRR 379 g
(A) snenfas v (B)
(€) FEER B D)
40/70. 'm‘m‘a’@mﬁr ?
(&) dfsa | | (B)
- (© framEs (D)
41/71. 3G TS eTSA ¥deH F 8 2
(&) TEM FSTET - (B)
(C) Tewre Fgt IqwmF - M (D)
42/72. ' 951 FE wE 7 ?
(A) Ha (B)

(©) T fagm (D)

qrfass vifed

21 s

dae g |

Afcer wiferrerT gaM - TRt
EAAAEAAT - TR |

fargreoy

F |

43/73. ‘3 Tirede fEw W' — ywqd A vgw R F SR o A 2

(A) i (B)

(C) U™ (D)
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44/74. "¥fqw’ w0 9K B ?

@A) & - B) fagw
(C) g am (D) e BEa |

45/75. ‘faenedt’ %7 afget g0 B ?

(A) smfe wfy B) <" gl
©) Tt afy (D) e B |
Part - B

46/76. séaauﬁumqﬁﬁmﬂﬁ ?
() e B) A
(©) T (D)  fewpm ]
47/77. ‘wifaga’ & & 2
(A) 3R wErH TR (B) =AFER Tl fae

() omifers faam : (D)  TUHATEEES R |

48/78. "We must procure the best teachers for our children whatever it may cost."

4 FHEH YAE & ?
@A) Ta=z1" (Bj TSI
(©) = swfa= (D) &9 9 |

49/79. fog fsa foerd yads H g ?
A W B) T

(C) HieTEH® (D) faEsFE=< |
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50/80. 'mmmm'mmma b

() o= (B) TS

© T (D) T |
51/81. foeer & o, TS, sTifigaamEg % 8 ?

(a) Tftga & | B) agda FTEHY

() wnfd _ (D) favawf= |

52,/82. STee fagra gfaues H &1 ?
@) & (B) ¥ UEHER

(©) TS D) fowr fafe | .
53/83. ‘354’ Uikl HHICH Ea §7L ?

(A) IRHAT FHH : B ®wREY fEE

©) wmum (D) wsﬂa@%ual
54/84.Wamwnmﬁmum;mmaﬁm?

(o) feEgaR W B) THIER T

) % g<H (D)  REHOT 9YH |
55/85.%%3%%@@@%%%%@%%@?

(A) TEEHEA AR (B) AW IR

(C) FiaE sr=er (D) TEE<AERE AR |
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56/86. ‘@'tﬁ@'mﬁﬁ@ﬁg——rﬁm?ﬁfé ?

@) wEERS gergr fafa o LU
(B) ®wRy= a@ammu fafea wfaa o
(@ srmfHE firtgm fofaa woewe
(D) sreTFen gugr fafad guessy |
57/87. frefafan graié wRemgR ffeq som 2 2
&) 9 War © ' (B)
(©) ﬂ‘aaﬁrm% (D)
58/88. SYFF TR ﬁwﬂ%—cﬁr
(@) Afie formrem werm w5 (B)
(C) wargTor fakramn waTaar e (D)
59/89. 'Psychology’ ¥ F+ NI vs2 71 2
(A)  wfed (B)
€ %= (D)
60/90. Rrems! w9 @87 F & 2
@) =R fawm | (B)

(C) w=fas fasmg (D)
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Section - II

Language — Oriya

Qe QI96Q N0E g¢ A8 | ANg gg9een AaQ 62l aARQIY |

There are 30 questions in all in this Section. All questions are compulsory.

‘99 6@9IQ G6R ARA F8IFe AEAE MR YL GQIQ 6QQI QMR | cFlad caIcY Q668
8060 99 629, YOR ARIRLEIEA AT Fde AR | QIQY, Yl AR R R C@606RER A8
g 6 YR6QdQd 6RIRIY | 4EIAIY, AR BIAERE QG6! 6 AR A6HE O] Yem |
9 0 @190 R A8Ie Ia B0QIA0 R RQYUER. G19R 6AE 2R 6 A A, &4

ge4e, @491 6 4616 061 A3, AT6q 48 AYQ 29 QEEAIT FARIQ 68 A @ QY I”

31/61. ‘99’ 49 a6 Aeq Q4990 6Q1R8 ?

32/62.

33/63.

34/64.
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A) 991

(C) Qb8

(B)

(D)

Qe

qaeng, |
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35/65. QRIRIYIQ A8
A) @Bl + eIl (B) . @@l + QL8
(C) @@ +aAQrsl (D) Q@ + Qe |
36/66. 0I6Q ‘RS’ €Q 2l ' 7
(A)  fieas (B) am@
C @9 (D) 2AQY |
37/67. QJRAQ PR 2’6 QU ?
(A)  AFIRR AQH6R YRIQ 29019 4oQ gala
B) gI9%e Jae g8 Qv |
€ &% g98a agd Qv
(D)  QeraQ AARE AR AAIFIeq FIE QY |
(38/68 - 44/74) 39 @G6IF €I0aE arley A6EIS AR MG A0 0aa &2 :
UQS YR, QAHRE, QAN IRQ Q19! |
GQ 01 991 ARIR 26 1 6RAITNE QR Q101 |
Q4 608 AN Qaa-Cd-g,
69! QIT 99, a8 82 98 | 6R ace ade |
62 294 80 K6 1QEe F2IEe,
18  afet aoiad 07 aIRe @19e-ae |
Q6 7 6@90L, 199 AI9 | Q] AIY 6oQ |
AlRe 68 A7 QIR AAQ I8 699 | |
219G Q6 6FaRaIa ade gda der,
Q@60 9671 @9IRQ 0 ATRGQ a°q I
38/68. dQY AQIR QA RAM1 ALAQ '€ 617 AIGR ?
| A)  MQ B) QId

oL

) @Q (D) <l
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‘colae Q1'- cHoR cRa 8 ?
A) @l 6688

C) Q6a86Q Q66186
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91.

92.

a3.

94.

95.

faetat - 111(a)
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sifere ¢ faeie
Section - III(a)
Mathematics & Science
@ el (I 60 G e ©e | (@ @A @3 b s34 SEEd O e e Ted urs 2@ |
There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

(O Qo IFH x 29 RCET 5 9»T

ST 8 5 IRF AT IWETW TANS e
(A) (5-x):(5+x)

(B) (x-5):(x+5)

[€) (10 x) i

(D) (x+5):(x-5).

(2x +1)% = 4x? + 4x + 1. @ft @z

(A) TNF

(B) St

(C) SN

(D) IEIDE 7x |

AT @ FAYETT ST 19 : 20 26T,

A) 10%
(B) 7-5%
(C) 5%
(D) 2:5%.

@I MM 20% I e 52fo
gW 90| eI o 7

(A) 60

(B) 70

() 75

(D) 80.
(p+g)=8 AN
T e

@A) 7

(B) 14

©) 21

(D) 28.

(p-q)=6C1 pg-4d

577432
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92.

93,

9.

95.

[6001 |

If your present age is x, then the
ratio of your ages 5 years before and
S years after the present is

(A)  (S-x):(5+x)
B) (x-5):(x+9)
(Gl W10+ x

(D) (x+5):(x=-5).

(2x +1)? =4x? + 4x + 1. This is an

(A) equation

(B) identity

(C) inequation

(D) none of these.

If the ratio of sale price and purchase
price is 19 : 20, the percentage of
loss is

(A) 10%

(B) 7:5%

€ 8%

(D) 2:5%.

If a number is increased by 20%, it
becomes 90. The number is

(A) 60
(B) 70
(C) 75
(D) 80.

If (p+q)=8 and (p-q)=6, then the
value of pg will be

U3 kb

(B) 14
(€ 21
(D) 28.

[ P.T.O.
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(B) .5
5
(€) i
11
D Fati
(D) 5
97. A8 B-@3 I{CW 9% 10 I%F, B¢ C-&3
JACIT TG 15 929 @A A 8 C-99 NG
TG 20 AT A, B '8 C-a9 IWOR 1Y
T
(A) 12:53%4
(B) 17'5 3%
(C) 15327
(D) 20 A
98. 1296-43 9T ZeT
(A) 24
(B) 26
(C) 36
(D) 44. |
99. 68, 3-2, 27, x 93 82-99 T 5
x-99 V9 2@
Ak 4
(B) 51
(© 41
(D) 39 _
100. 3 6 @ 2277 1S 5712
(A) o0
(B) =¥
(C) THNEI (T (W @b
(D) @HHS qY|
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96.

9.

98.

99.

100.

The_ fraction of 0-63 is

63
)
100
100
(B) 63
7
c & e
© 11
11
D) —.
(D) 5
The average .age of A and B is

10 years and of B and C is 15 years
and of A and C is 20 years. What is
the average age of A, Band C?

(A) " 12:5 years

{Bj 17-5 years

(C) 15 years

(D) 20 years.

The square root of 1296 is
(A) 24

(B) 26

(C) 36

(D) 44.

The average of 68, 3:2, 27, x and
82 is 5. So the value of x is

(a) 4
B3 51
ey =]
(D) 39

The average of three consecutive
whole numbers is always

(A) even

(B) odd

(C) any of these
(D) none of these.



101.

102.

103.

a3 oS b SN o AT
90° (@I FNRIfB® FAET G’ oG
9l 2

(A) <sfesa
(B) s
(C) =%
(D) Tfeferan |

@3 AN Ry Al TWPIER TH
165° F(1, IRGENLA AN 24

A) 12
(B) 24
(C) 6
(D) 8.

feae  fage AABC-@d WA (@9

/A =70° 36 AN @ PASH e 2

104.

105.

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC < BC.

o< TR R free, @b
SRR W 25° FCE, FoTPIEE N

(A) 755°
(B) 110°
(C) 130°
(D) 155°.

ABc fagem ABa wafeyq D, @e
DE||BC. BC =7 cm 2¢1 DE-G9 VN

i
A

D, E
B &)
(A) 14 cm
(B) 7cm
(€] 35 em
(D) 14 cm.
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101.

102.

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus

(D) trapezium.

If each interior angle of a regular
polygon is 165°, then the number of
sides of the polygon is

(AY 90
(B) 24
L )16
(D) 8.

103.

104.

105.

The vertical angle ZA of an isosceles
triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC< BC.

An acute angle of an obtuse angled
isosceles triangle is 25°. So the value
of obtuse angle is

(A) 755°
(B) 110°
(C) 130°
(D) 155°.

In AABC, D i_s the mid-point of AB,
DE| | BC. If BC = 7 cm, then the value

of DE is
A

14 cm
7 cm
35 cm
1'4 cm.

(A)
(B)
(©)
(D)

[P.T.O.



106.

107.

108.

109.

110.

1L

4,7, 12-93 59 AN Ze

(A) 28
(B) 21

(C) 14

(D) 35.

50-99 x % = x99 y % TE y-a7 A
Eul

(A) 25

(B) 50

(C) 75

(D) 100.

3x? - 2yz + 5z @8 NANEAR BTN
&

A 4

(B) 3

(C) o

(D) 5.

55 kg e 25 kg w31 @ SEREIE OIS
YT O 8 TR FHATS P ?

(A) 11:5

(B) 5:6

(C) 6:5

(D) 5:11.

@3 (@Y IPNE A-9F FHF B-aF
T faed | A-9 @QH 428 Gl
QE, B-aQ9 “1oit* [

(A) 214 Bl

(B) 556 GBIl

(C) 107 Gl

(D) 856 GBI |

@6 AwgreE bGP 2o 73°, 97°,
146° @38 138° | #/BY (I N

(A) 113°
(B) 104°
(C) 86°

' (D) 83°.
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106.

107.

108.

109.

110.

11 1.

6001

The fourth proportionate of 4, 7 and
12 is

(A) 28

(B) 21

(o Sh L

(D) 35.

If x % of 50 = y % of x, the value of
y will be

(A) 25

(B) 50

(€) 75

(D) 100.

The number of variables in the
expression 3x" = 2yz + 522 is

A) 4

(B) 3

(C) 6

(D) 5.

If 25 kg of zinc and the rest amount of
copper are present in 55 kg of brass,
what will be the ratio of copper and
zinc there ?

B 1153

(B) 5:6

(C) 6:5

D) 286211

The principal amount of A is twice of

B in a joint business. If the profit of A
is Rs. 428, then the profit of B will be

(A) Rs.214
(B) Rs. 556
(C) Rs. 107
(D) Rs. 856.

Four angles of a pentagon are 73°,
97°, 146° and 138°. The value of the
fifth angle will be

(A) 113°
(B) 104°
(C) 86°
(D) 83,



112.98fd¢ ABCD € ABEF-@3 (%@%e

113.

AT S @4 O THE I
h'€ p 21

(A)
(B)

h>p
h<p
(C) h=p
(D) IS w3 |

ewe f5ta AB||CD ¥, /BGE-49 W

Eul
F
u/
'S5 D
X
90° + x(y i
A
/ G
E
(A) 45°
(B) 120°
(C) 135°
(D) 270°.

114, Npa @ wreraferg AR 9o fage

EN ¥ qME@ ?
(A) . 95°, 45°, 50°
(B) 95°, 45°, 40°
(C) 65°, 85°, 50°
(D) 65°, 55°, 25°.

115. @36 AHAMA AN 32 9 @ 5 W@ @9
@ (@ AN Seq I ©f Jo o
AT 16 I @, eI 2o
(A) 83
(B) -44.

(C). ~83
@) 12

116. (x + 3)(x - 3)-9 x-49 AR 9 ?
(A) 1
B) 2
€ 0
] [
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112,

113.

114,

115.

116.

The areas of the parallelograms ABCD
and ABEF are equal. If their heights
be h & p respectively, then

(A) h>p
(B) h<p
(C) h=p
(D) none of these.

In the figure below, AB| | CD, then the
value of ZBGE is

45°
120°
(C) 135°
(D) 270°.

With which of the following angles, a
triangle can be formed ?

(A)
(B)

(A) 95°, 45°, 50°
(B) 95°, 45°, 40°
(C) 65°, 85°, 50°
(D) 65°, 55°, 25°.

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83
(B) - 44
(C) ‘<83
(D) 12.

The coefficient of x in the expression
(x+3)(x-3) is

@A) 1
B) 2.
(C) ©
(D) -1.

[ P.T.O.



x2 - 8x + 15 Afba TesymapalF 26

7
(A)  (x-5)(x+3)
B) (x-8)(x+7)
(C)  (x-35)(x-3)
(D) (x-8)(x-7).
118. a’b3, a®b?, a*p®-97 @Me, 32q*
R b-aq W 2
(A) 32
(B) 24
(C) 6
(D) 2. | _
119.96 affm @t o3 +p3;  wfemiba
1.8, (a + b) TET FAA.B. 8@
(&) (a®+b?)
(B) (a? -ab+b?)
(C) (a? +2ab+b?)
(D) (a? +ab+b?).
120. 199-9% 9 %5
(A) 7880599
(B) 9703011
(C) 7680951
(D) 6879091.
121. fsfifieefr @@t e s a3 2
(A) e
(B) P
) 3
(D) FARE|
122. (IR N Colifbey RCd Fw 291
(A) TEbetsms '
(B) FREICETN
(C) CCACETN
(D) CERICAICSN |
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117.

118.

119.

120.

T2 1

122,

The factors of x? — 8x + 15 is
(A)  (x-5)(x+3)

B) (x-8)(x+7)

(€)  (x-5)(x-3)

(D)  (x-8)(x-7).

If the L.C.M. of a’b®, a3b?, a*b® is
32q* , the value of b will be

(A) 32

(B) 24

(C) 6

(D) 2.

The product of two terms is ad + b3
and H.C.F. of the two terms is (a + b).

So L.C.M. will be

(A) (a? +b?)

(B) (a? -ab+b?)
(C) (a? +2ab + b?)
(D) (a? +ab+b?).
The cube of 199 is
(A) 7880599

(B) 9703011

(C) * 7680951

(D) 6879091,

Which of the following is not a
component of phloem ?

(A)
(B)
(C)

Sieve tube
Companion cell
Fibre

(D) Sclereid.

The site of protein synthesis in a
cell is

(A)
(B)
(€)
(D)

Dictyosome
Ribosome
Mesosome

Chromosome.
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124,

125.

126.

127,

128.

FREAY ANE ?
(A) ST SIS Sriferes!

(B) sfeifer afs

(C) FNRCCEIN

(D) ©Ipas |

@A @@ NS TR A (RT T
© Z&

(&) TR

(B) Twbd

(C) o

(D) THATHI |

F #Idq AN e o A e 59
A) e

(B) B

(C) Muifa

(D) embzefees |

@ ~wIL Qe JeT e 2

A) ==

(B) G

(© Feifw

(D) 9TFIRG

AFMA TomHefE fe fF 2

(A) T, <BIFREE FIBWe @32 BN
HISTFD

I, AT @ e

I, ARTHIF @ FIZHI

AR, CfSAN NIBEE @4
SABITTANT ST |

ARG A ZeiE IRTe 27

(A) SFE NS

(B) OFET RIRCTICEH

(C) IR TRHIZT

(D) @& R |

(B)
(C)
(D)
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124.

125.

126.

127,

128.

[6001 ]

123.

Which of the following organelle has
many ribosomes attached to it ?

(A)
(B)
(C)
(D) Vacuole.

The type of animals
cutaneous respiration is

(A)
(B)
(©)
(D)

The phylum of animals
presence of mesoglea is

(A)
(B)
(©)
(D) platyhelminthes.

Which substance
'‘bucky-ball' ?

(A)
(B)
(€)
(D)

What are the components of Gun
powder ?

(A)

Rough endoplasmic reticulum
Golgi body

Lysosome

showing

reptiles
amphibians
birds
mammals.

showing

porifera
ctenophora
cnidaria

is known as
Diamond

Gold

Fullerene

Graphite.

Carbon, potassium nitrate and
potassium sulphate

(B)
(€)
(D)

Carbon, sulphur and bismuth
Carbon, sulphur and nitre
Sulphur, sodium nitrate and
potassium sulphate.

The substance used in rocket fuel is

(A) liquid nitrogen

(B) liquid hydrogen
(C) carbon dioxide
(D) ligquid helium.

[ P.T.O.
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132.

133,

134.
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- 64
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(A) TS

(B) I
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(B) 4TI
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(A)  CITETRR]

(B) APIREATGIND!
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129,

130.

131.

132.

133,

134.

The concept of stationary orbit in an
atom was proposed by

(A) Rutherford

(B) Dalton

(C) Neils Bohr

(D) J.J. Thomson.

An example of a solution made of
solid in solid is

(A)
(B)
(€)
(D)

Which one of the following animal
body phyla has segmented body ?

fog
smoke
bronze

air.

(A) Mollusca
(B) Echinodermata
(C) Aschelminthes
(D) Annelida.

Which of the following is not ' a

mammalian character ?

(A) Pinna

(B) Mammary gland

(C) Three chambered heart
(D) * Hairs.

Which one of the following does not
have accessory respiratory organ ?

(A)
(B)
(C)
(D)

Which one of the following animals'
locomotory organ is cilia ?

Anabus sp
Clarius sp
Labeo sp

Heteropneustes sp.

(A) Hydra

(B) Earthworm
(C) Paramoecium
(D) Amoeba.
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136.

137.

138.

139.

140.

PreweT wacer o wi ol 5o

(A) TP
(B) I=*

(C) SEmH

(D) i |

(A) “NOIE SF A

(B) NIBIA S FIRCT6’

(C) PO W% IR

(D) SIBR WF HAFIEC |

NI @A ofee Sz »

(A) ST I

(B) QWHIRG

(C) AR (=

(D) =G|

@RS AREE @y e sfvesEma sy
iR e SifREite Sesi i
(A) eRIRAGR Ao

(B) eRTRNI@R ST oo
(C) SARI@H YT Fifoe
(D) eRIRN@I qesfa FFIA1foss |
G3fb et (wIEe ofbesEre 1@ 3o

(A) 108 volt

(B) 1-5volt

(C) 1-05 volt

(D) 1-8 volt.

iy Twery aob FIfer o T8 o
(e I o @ @faw I @ 2

(A) YIS biev Jfaa w1t

(B) QAYNSAY B9 B SIS P
(C) TSl T AISAN &y

(D) Twel Ifaq & |
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135,

136.

1387,

The organ responsible for secretion of
bile is

(A) liver

(B) kidney

(C) pancreas

(D) stomach.

Acharya Prafulla - Chandra Roy is
known as

(A) 'Master of Sulphates'
(B) 'Master of Nitrates'
(C) 'Master of:Nitrites'
(D) 'Master of Sulphides'.

Which one of the following is the non-
conductor of electricity ?

(A) Gas carbon

. (B) Ebonite
" (€) Human body
(D) Soil.
For a definite resistance and for the

138.

139.

140.

definite time of flow of current, the

heat produced in a conductor is

proportional to

(A) the flow of current

(B) the cube root of the flow of
current

(C) the square root of the flow of
current

(D) the square of the flow of current.

The emf of a dry cell is

(A) 1:08 volt

(B) 1:5volt

(C) 1-05 volt

(D) 1-8 volt.

Why does an ink-filled fountain pen

leak at a high altitude ?

(A) Atmospheric pressure increases
(B) Atmospheric pressure decreases
(C) Temperature decreases

(D) Height increases.

[ P.T.O.
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(A)

142.
(A)

(B)

143.
(A)

(B)

144.

EHCGIE,

(C) &I
(D) tsrnﬁwﬁm

(B)
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141.

142.

143.

144.

Substance important for = blood
clotting is

(A) . bilirubin
(B) prothrombin
(C) albumin
(D) * globulin.

The cell responsible for immunity is

(A) lymphocyte
erythrocyte

thrombocyte

(B)
(C)
(D) hepatocyte.

The name of a female reproductive

hormone is
(A) testosterone

(B) progesterone
C) gastriﬁ
(D) adrenaline.

The
the st D chamber of the heart.

pulmonary venous blood enters

right auricle
left auricle
sinus venosus
ventricle.

name of the emergency hormone

thyroxine
estrogen
glucagon

adrenaline.
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146.

147.

148.

149.

150.

When repulsion occurs between two
substances then those two
substances are

(A) both magnets
(B) both magnetic substances

(C) one is the magnet and the other
is non-magnetic substance

(D) one is magnet and the other is
magnetic substance.

The electrode which is connected to
the positive pole of the battery is
called

(A) cathode

(B) cation

(C) anode

(D) anion.

Casparian strip is made up of
(A) Chitin

(B) Cellulose

(C) Pectin

(D) Suberin.

Which of the following is not a green
plant ?

(A) Lotus
(B) Spirogyra
(C) Agaricus

(D) Fern.

In an eukaryotic cell, the organelle
responsible for aerobic respiration is

(A) Chloroplastid
(B) Mitochondria
(C) Golgi body

(D) Lysosome.

[P.T.O.



92.

93.

94.

(A) AP e

(B) f=-aifa T
<A 26
gfueoin amM&a |

LAY WHET WRER 2TF ..........

(A) SfE

- (B) af*m

(©) Tez W
(D) CGR ST |

TEHFID @ (T et @ o Gt =9

(A) FEOR (B)

(©) W (D)
faueTE (@ @i sfowE O 26

(A) ©TE 2 FS
(B) T oo
() weaafafa
(D) AR oS |
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faete - 111 (b)

et faw

Section - III (b)
SOCIAL STUDIES
a3 e G5 60 & o @z | (@ A9 @3 REEl v FEs O 7 2t Ged wie = |

There are 60 questions in all in this Section. The candidates who have selected this sub_]ect

R |

APl
IR 7Y |

92.

93.

94,

must answer all the questions.

91.

Effect of revolution of earth is

(A) change of seasons :

(B) occurrence of days and nights
(C) occurrence of flood

(D) occurrence of earthquake.
The first humans came from

(A) Africa

(B) Asia

(C) North America

(D) none of these.

The Tropic of Cancer passes through
(A) Krishnanagar

(B) Bankura

(C) Birbhum

(D) none of these.

The Himalayas belong to the category
of '

(A) Fold Mountains
(B) Block Mountains
(C) Volcanic Mountains

(D) Residual Mountains.
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95. Y APER F51 ey : 95. Project Tiger was started in
(A) 1972AD. (B) 1973 AD.
(C) 1975A.D. (D) none of these.

(A) 593 (B) S»q9 e

(C) s»ae Qs (D) CFABR 77 |

96. Atmospheric pressure is measured

96. YT vINIT TF o7 by
A) F B) F: (A) Bérometer
(B) Thermometer
(C) =Eeafpr (D) smRTHfGE | (C) Hygrometer
97. iy St 3R 2o (D) Anemometer.
97. Rainfall of equatorial region is
A)  TETIRCES B) gfare
@) sl (A) relief
(C) ifasem (D) @f% &% | (B) frontal
! £ tional
98. =X Ao v / A 2o ) foraitn
(D) drizzle.
(A) BT (B) e 98. Longest river in the world is
(B) Nile
99. WREfb %o
(C) Ganga _
(A) R (D) Brahmaputra.
(B) T 99. Great circle means
| (A) Equator '
C) oI&If® caa
© : (B) Tropic of Cancer
(D) F @91 | (C) Tropic of Capricorn
100. W1 @ Fo17 208N 3o (D) Pole.
(A) @wBre e 100. Dadra and Nagar Haveli is a
(B) ey (A)  Union Territory
© (B) State
(C) District
(D) CFMBIR 97 |

(D) none of these.

577432 | [ P.T.O.
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101. Free India Centre ¥*f¢ R 101. The Free India Centre was set up in

(A) e

(A) Berlin
(B) #SE (B) London
| (© cfeere (C) Tokyo
(D) (™ | (D) Rome.
102. Indian Independence League H° 102. The Indian Independence League was
TR - - set up by
(A) TR T (A) Rashbehari Basu
(B) Torav¥ ] (B) Subhas Chandra Bose
(C) @B G B (C) Captain Mohan Singh
(D) @A @FC 7 | (D) none of them.
103. Direct Action-&3 1 I 103. Direct Action was initiated in
(A) FlEreE : (A) Galcutta
(B) (TS | (8) Bombay
(C) wEIt& (C) Madras
(D) CPFBR FW | (D) none of these.
104. C.R. Formula-¥ &% (* 104. C.R. Formula was forwarded by
() beE AGICNATEIAT | (A) Chakravarthi Rajagopalachari
(B) fPoae wm % (B) Chittaranjan Das
(C) 3w I | (C) Rabindranath Tagore
(D) €T FE T | . (D) none of them.

577432 6001
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105. "N GRG0 T ZET 105. Amar Sonar Bangla was composed by
(A) 5T AN (A) Chakravarthi Rajagopalachari
(B) foezes wm (B) Chittaranjan Das
(C) FAwNY o1 (C) Rabindranath Tagore
(D) ¢t S A | (D) none of them.
106. CRT IR 2 1% Berer 106. The last king of the Maurya Dynasty
was
(A) J=Ru¥
(A) Brihadratha
(B) TS
B Kalashoka
(C) Twflw
K hdayin

(D) 9™ @ 7 |
(D) None of them.
107. 19 wrerl femef (ifea ey «ifafee »
107. Who was called Lichchhavi dauhitra ?
(A) oo RS
(A) Chandragupta I

(B) TS ruee Reswfre
(B) Chandragupta II Vikramaditya

(C) rEed
(C) Samudragupta

(D) MR @S N |
(D) None of them.

108. i A1 *ifafow v e o zem
108. Sakari was the title earned by

(A) ST FHeS
(A) Chandragupta I

B 3
(B) fadn swey R (B) Chandragupta II Vikramaditya

(€) Tred (C) Samudragupta

(D) &om S 7 | . (D) None of them.

577432 [6001] [P.T.O.




- 109. WRERE ofRE T+ FEH
A) IR
(B) CMefio@ ez
(C) Pws@ s
(D) TR (FC 9 |
110. TS o1 omifers e

(A) FHeY (T
(B) Y=
(C) fasx AereE

(D) ™R (TS 7 |
111. e &7 SE@=Tel s ?
(A) aF X IS
(B)
) Bz
(D) S |
112. IFIECH

&

(A)
(B) IFW &l
(C) == T4
(D) TG A |
113, #Remy Sfew sres IW
- (A) FReTeE wifbte
(B) W“iﬁm
(C) siewe Tfbre
(D) IEAGIR FF |
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109. The Aihole Prasasti was composed by

110.

(A) Ravikirti

(B) Gautamiputra Satakarni
(C) Vasisthaputra Pulamayi
(D) None of them.
Pulakeshin II defeated

(A) Chandragupta Maurya
(B) Harshavardhan

(C) Nagabhatta II

(D) None of them.

111. Jaldapara is famous for

P12

113,

(A) one horned Rhinoceros

(B) Tiger

(C) Lion

(D) Elephant.

Cause of air pollution is

(A) smoke

(B) cleaning utensils

(C) bathing

(D) wuse of fertilizer.
Mangrove forest is found in
(A) Saline soil

(B) Black soil

(C) Podzol

(D) None of these.



114. voo b S g ze1
(A) Wergh (B) el

(C) M= (D) oS | @)
B
115. Gfeeo oo wrpe 5o ™
(C)
(A) TN
(D)
(B) S
(C) wfawe sl (A)
(D) &l | (B)
116. IRES GHE 25 (C)
(A) TR (D)
(B) fwal
; (A)
(C) e
: (B)
(D) FFGIE Y |
; ' (©)
117. 9067 2™ @ IeEer  Seifke D)
TRRER 2
(A) wIRER A)
(B) w9 (B)
(C) *IReiz (C)
(D) «TFa @G 7 | (D)

118. SITHI-GI-43 ST (P SIS IEN ?

A) T
(B) Q&G
(IC) ANGATY
(D) CBIZ 7T |
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114. Landform which is 600 metres high,

is

Plateau
Plain
Hill

Mountain.

115. Earthquake prone region is

Japan
Australia
South Africa

Germany.

- 116. Babur was born in

Fergana
Delhi
Ajmer

none of these,

117. Captain Hawkins visited the court of

Jahangir
Akbar
Shahjahan

None of them.

118. Vasco-da-Gama came to India and
landed at

(A)
(B)
(C)
(D)

Khozikode
Gujarat
Patna

none of these.

[P.T.O.



119. TEIRIET TINE SIlF 2

(A) >asa A

(B) a0 ﬁ’tsl
(C) sawo .@:'
(D) Saso A3 |

120. f@orw sl =mE o 27

(A) Sudo A
(B) svis e
(C) svse ;s
(D) (FGIR FF |

121. 32%9f1 Sefelk ANANES Forelfo 26

(A) WW

(B) Fedlm sfere

(C) M= e

(D) @HWEW|
122, &R BE

(A) =¥

(B) wmlfwe

(C) (A) 93t (B) ¥oF

(D) C(SHBR 7 |
123, ffEpre e

(A) @I

(B) cﬁzfma%

(C) == I

(D) @HBE FH |
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119,

Farrukhsiyar’s firman was issued in

(A) 1717 A.D.
(B) 1720 A.D.
(C) 1730 A.D.
(D) 1740 A.D.

120. The Second Charter Act was passed

121.

1302

123.

in

(A) 1813 A.D.
(B) 1814 A.D.
(C) 1815A.D.

(D) none of these.

The Harappan Civilization was a

contemporary of

(A) Sumerian Civilization
(B) Egyptian Civilization
(C) Greek Civi_h'zation

(D) None of these.
Yajna;'alka was a

(A) Saint (Rishi)

(B) Philosopher

(C) Both (A) and (B)

(D) None of these.
Bimbisara belonged to the-

(A) Gupta Dynasty

" (B) Maurya Dynasty

(C) Haryanka Dynasty
(D) None of these.
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124, SIETFRIST VIS AT T 124. Alexander invaded India during the
(A) bUSY N PP reign of
(B) 4SHCHE *TFBIE (A) Chandragupta Maurya

© (B) Dhanananda

(C) Agrammes

(D) CIHGIZ 7Y |

(D). None of these.
125. et (Rew) 3a 23
125. The Battle of Jhelum was fought

(A) *F I AETPSISED VK

between
(B) TICT® QIR SIETPETSTAT TXG - (A) Porus and Alexander
(C) R TR @ AMEFEISIER V&S (B) Ashoka and Alexander
(D) dWE (O A7 | ' ! (C) Bindusara and Alexander
126. ROEA-A1E A9 AGHIE GRS ATIBER (D) None of them.
o aEm 126. Hiuen-tsang visited India during the
reign of
(A) PUeY G -
(A) Chandragupta Maurya |
(B) Z¥E :
. _ (B) Harshavardhan
(C) faSF ey

(C) Nagabhatta II
(D) GMF PE 77 |
(D) None of them.

127, eH R a@em

127. Suleiman was a/an

(A) IR e (A) - Arab Traveller
(B) AR G (B) French Traveller
(C) o= oo (C) Chinese Traveller
(D) COR 7F | (D) None of these.

577432 ‘ [ P.T.O.



128.

129,

136

Tz (TR *RfeTe PEiREr
(A) TS HIRACE -

(B) &S sEiie

(C) TRE=

(D) nﬁmw@aﬂl
‘3@’ I 2@
(A) s I
(B) TN ST
(C) = Red
(D) CPHGIR Y |

e’ (3 qifeR srefe i -2
L B S

(B) ar&il
(C)

(D) CFWGIR 7 |

131. S3fmm = q e

132.

(A) e

(B) =M

(C). erafw

(D) CFHGIR A7 |

Colb SRR e A 23
(A-) syoo e

(B) svos ;s

(C) Svox s
(D) Svowo |
577432
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[6001]

128.

129.

130.

131.

132.

Muhammad Ghori defeated
(A) Prithviraj Chauhan
(B) Pulakeshin II

(C) Harshavardhan

(D) None of them.

Igta was a system of

(A) Land grants

(B) Religious endowment
(C) Loan

(D) None of these.
Khudkasht was a category of
(A) peasants

(B) kings

(C) nobles

(D) none of these.
William Carey was a
(A) Missionary

(B) Poet |

(C) Linguist

(D) none of these.
Fort William College was established
in

(A) 1800 A.D.

(B) 1801 A.D.

(C) 1802 A.D.

(D) 1803 A.D.



133, 745 e 9y MRfHEw
(A) &Afa fefeam femfens
| (B) (3. FEENEA A
(C) com feiroiel
(D) «TR @T 7 |
134, SrI5w G B
(A)  ~awoE
(B) 5awoR
(C) (A) 932 (B) Sexz
(D) C(FFBIR 87 |

135. &G (@H  WPERE BYET O

fecafgeE 2

(A)  AWTET

(B) IerareT

(C) =aren

(D) (A) @32 (C) ¥&F |
136. S *NfE 2w

(A) 3TN ST P AN

(B) AW SIagel GFE

(C) M e

(D) ¢TTE @ 7 |
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133. The Young Bengal was led by

134.

135.

136.

(A)
(B)
(©)

(D)

Henry Vivian Derozio
Rev. Krishnamohan Banerjea
James Prinsep

none of them.

Womesh Chandra Bonnerjee was a

(A)

(B)

(C)

(D)

Moderate
Extremist
Both (A) and (B)

none of these.

Gandhiji called for the establishment

of

(A)
(B)
(©)

(D)

Ramrajya

Ganarajya

‘Swarajya

both (A) and (C).

Frontier Gandhi was

(A)
(B)
(©)

(D)

Khan Abdul Gaffar Khan
Khan Abdul Wali Khan
Sﬁaist;a Khan

none of them.

[ P.T.O.
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137. V SHNGSI (w4l I 137. Gorge is formed in
(&) a7 TreIfere (A) upper course of a river

(B) Awm wueifere . (B) middle course of a river

(C) A= forseifete | (C) lower course of a river

(D) fEwIRs Tweifere | (D) mountain stage of a glacier.
138. w2ifiga-aa =G z=1 138. Date of spring equinox is

(A) W6 (A) 21st March

(B) 23 BT (B) 22nd December

(C) 36 T (C) 21stJune

(D) 2C C’!ﬁ?ﬂ?{ | (D) 23rd September.

139. gff‘ﬁa SREE @ W‘@ — 139. Heaviest rainfall in the world

received by

(A) areEToe

(A) Bangladesh
(B) A& |

(B) Cherrapunji
(C) e

(C) Shillong
(D) CRP=AN |

(D) Mousinram.

140. SCAAFETR SHIRI 291 _ ; ;
140. Example of Igneous Rock is

(A) APID (B) Q@AM
_ (A) basalt (B) sandstone

(C) i (D) GG |
141, SR0SA ANEe ANES AT 2o

(A) > FDwTE T

(C) marble (D) slate.
141. The maritime boundary of India is

(A) 12 nautical miles -

(B) ~ v© wHmer e "~ (B) 13 nautical miles
(C) se A W (C) 15 nautical rhiles
(D) CPAOIR 7N | : (D) none of these.

577432



- 142, FHY[6TH ARG 2F

(A)
(B)
(©)

(D)

19f1> BIET By
YW BIER )
oI BICAE i+ )

I BIAS &y |

143. Oedd 35 @l

(A)
(B)
(€)

(D)

CHFA A8
ISk

A T TAS A8
(PFHR T |

144, RSN QFF Q9 e

(A)
(B)

(C)

(D)

155

(@)
(B)
(©)
(D)

577432
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142,

143.

144.

Black soil is suitable for
(A) cotton cultivation

(B) rice cultivation

(C) wheat cul;civation

(D) sugarcane cultivation.
India is a

(A) Developing couﬁtry
(B) Developed country

(C) Least Developed country

(D) none of these.

Rgsult of greenhouse effect is
(A) inversion of temperature
(B) global warming

(C) industrial pollution

(D) flood.

145. Temperature is measured by

(A) thermometer
(B) barometer
(C) anemometer

(D) seismograph.

146. River of South India is

6001

(A) Brahmaputra
(B) Ganga
(C) Jamuna

(D) ' Krishna.

[P0,
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147, F0ET (I3 BRI A 147. Royal Bengal Tigers are found in

(A) I (A) Sundarban
(B) ~if*swqib #i4® (B) Western Ghats
(C) TwEry st (C) Himalayas
(D) SIS WAL | (D) Garumara forest.
'148. AR Tweifex ST T 148. Main work of a river in its upper
course is
(A) AL
(A) erosion
(B) ST
(B) deposition
(C) <=F ‘

(C) transportation
(D) =& 415 (oAl A |

(D) formation of meander.

149. (IFTR 24T ...............- 93 FFTEIFS G |
149. Polder is the reclaimed lands of

(A)  CIRRETRGY

(A) Netherlands
(B) @Al

(B) Germany
C) wifgar
© (C) Austria
(D) FooTIG |

(D) Scotland.

e T NI 150. Rich deposits of minerals are found in

(A) CﬂW’T‘?ﬁ Wﬁ o (A) Chota Nagpur plateau

(B) TR BT (B) Sundarban region

(C) ~iFower W qRE | : (C) Plains of West Bengal

(D) “A6NACH ofrfer ST | (D) Mountain region of West Bengal.

577432 [6001




81

YAQ! SIS By
SPACE FOR ROUGH WORK
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YAY] SIS T
SPACE FOR ROUGH WORK
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fSC® / INSTRUCTIONS
( FFAZHICA AT @ A T / Read carefully and comply )
@%99 / IMPORTANT

@ dla ! A1 FaTa N AW Gra pehn #16 (ARwAa wenre) Bfefewebare oy o
At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's
ortion) to the Invigilator, .

ULCo 8 T O Wim — e, B, B, o, efewm, sheed, ere s ¥ et o 30 © e omy) ofmwdice O

FEHSKE TP 2N e 2pid 30 B et was o @b wrn falhy o aeer 30 b et b0 1 erera Teg fioe 2

In Section-ilI, there are 8 languages — Bengali, Enghsh, Hindi, Nepali, Oriya, Santhali, Telegu and Urdu. Each language is
having 30 questions, The candidate has to answer 60 questions in all, taking one as First Language having 30 questions and
the other as Second Language having 30 questions as per his/her application form.

el 7 faeiel e — [@ei 1i(a) - 519 @ fae a3t et nb) - sTGTawT | eiere e 60 B ept g | SIS SEvE-
Sfg AN (P GOl RENER 53T F9E |

Se?ltinp—illﬁ {i)s dividtgd int}r:hrwo szc_taio?slr Scctiﬁm 1i{a) - Mathcle_r:'lhatics & Science ar;lq Sicticxu I!ll_{bl - Solg_:ial Studies. Each section
1s_having 60 questions, The candidate has to choose any gne of the sections as per his/her ication Form.

sl smm%ﬁounmmﬁﬁﬁmmﬂ%ﬁmm%m% |5

The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed place in the OMR Answer Sheet.

5

12

13.

14.

frdreafa mm@w{-l 93¢ OMR DEEHIET @FHHIUI 1 (TP 8, 138 14 992 o g ST 1, 3 938 4-0 oG oUafe o I | A Ao 2
@WT 9 409 @3t FEPY DAY AP FUoA TR FA0G WTEA 2 OIRTT OMR SRR Fi $9r AN @fba g Wiofre e Sofw 36w
Read all the instructions carefully and fill the details in S1. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and Sl. Nos. 1, 3 & 4
in the Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for th
consequences arising during scanning of your OMR Answer Sheet. g
o] 1 i@ #1e OMR e A2 iy )

OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

epo{fET (UG 84 o1 @at 150 B ert WE) sproffval CueTa e snier o @ e i eraefee e oredl
24 epasifge™ 150 b e @at ST 3 (YT 80 AN [+l FfeTey e |

The Question Booklet comprises mcﬁages having 150 questions. After bezﬁ% instructed to open the Booklet then only the candidate will
open the Question Booklet at the indicated vgac& Check whether the Booklet contains 150 questions starting from No. 3 to 80.
Aol g QR | Aol ST @Fi TaaE B I A 11 e TR Ty (Reofive WifFe wl 2ed A |

All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one
mark. There will be no negative marking for wrong answers,

O ST (O SUSTS T9 AR, AAHIA ASNY ZEH A1 | 15 S BADEAA (I AN 1 FC A K@ a3k fqwisl- 1l(a)
@Gqt [11(b) AL @ BSATSH AT 1A =T | (IR 2T CUPTES SHAGH] AT BTG HAM(PL HUrg 401 41 T |

In any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in
question/s during the examination. Section-I and Section Ili{a) and IlI(b) are printed in Bengali and English versions. In case of
any factual discrepancy the English Version will revail. i ;
@1 4l I FACS X0 SIS O S @) ware T | ooilhee epteifel (4te Ry A1) (o Sffae e orenl = A |
Rough work, if any, ma{ebe done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet. No additional paper shall rovided.

w5 (BT, ,mﬁ.mw.m,%ﬂmwwmmwmmmmaﬁm
ol TR < qee SR ST 91 e T 29

Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not
allowed. Their use will result in disqualiﬁcation of the candidate.

o g A AW S8 OMR TEIoi@ (el 203 |

OMR Answer Sheet will be provided separately along with the Question Booklet.

@l emeifrel 94t OMR Teaea (4 fofi enaeifeel @ac OMR TEReTE ffia wm Reaciaf s@e sawe ) eeifae frend wmas fro A
< | O ST e STeT fGrs smefvaT e | eneffue (4T o S Armdl SRR THIR I (A (3 2o (I o W
ofb1 R/ 2/ R/ GICS R | 3 el G @ e, erete e o Rafefebace enfecy efaés o (Ve |
After ion Bookdet and OMR Answer Sheet are issued 1o the candidate, the candidate must fill in all the entries in the Question Booklet and OMR
Answer Sheet. The Question Booklet is sealed by a reverse jacket. The candidate has to tear open th i
Question Booklet. Alfter opening the Question Jet the candidate should ensure that any page/question is not missln%‘f not printed / torn /[
:g;tled. In case you find any defect anywhere in the Question Bookle!; immediately inform the Invigilator and get it replaced by him. i
oI (AN A, (7 (TS, eolfee] i e, Cafl, forer, elerw o, FadI STa, Wee R, o o @3t S off

e OMR T69o/0aq @ He o« 90 |
Candidate should write Roll No., Centre Code, Question Booklet Serial No., Category, Gender, Language-1, Language-Il, selected
Subject Group, Date of Exam and his/her Full Signature in the space provided in the OMR Answer Sheet.

0 0% 4 o TT TG A, B, C O48 D SwIe A Hizve 41 Wrw | 2o o0 19 R sy @3z o I ift e W 2w o s
a0 | ORI Taal oF6 OMR TEIoa AP 3af o P 9 e w1 Biew 9w o) @eTia I 3 AW O R T
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to you is correct. Indicate your answer by darkening the a propriate circle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use black point pen only.

Ho® oS ; #f%® | CORRECT | §#1 *14f% : g7 | WRONG G& | WRONG G | WRONG ¥ | WRONG
COfrectmethcd: ®@®O00O Wrong method : E@@@ @'@@@ ©RO0 0 [ ¥oX Xo)

@ @ o a9 CRETTa I CBIF FEpEA 1 6oTed A1 |

Once a questign 1 swered, no correction is permitted.

OMR aﬁ%ﬁmwmﬁmum%m@%%ommwwﬁmﬁﬁmqmmm

A W W9 1 G Q@ Al GF G P WO H ok @AY IO | :

OMR Answer Sheet is designed for computer evaluation. [T you do not follow the instructions given above and shown in the OMR Answer

Sheet, it may make evaluation by computer difficult. Any resultant loss to-the candidate on the above account shall be of the candidate only.

afe 1 A1 TG A (I FRIHIAR SATE T LIOR SRS (% | A (T Ze o) oft off%eT T oMR TeIerE &9 om

TR 93¢ BT ER (N OR Wefib ey el crse o e

No candidate is allowed to leave the Examination Hall before the final bell. After oomg}etion of the examination the candidate should hand

%cr Ec ?lﬂ}tﬂﬁnswer Sheet along with the Question Booklet to the Invigilator and he/she will take back his/her portion of Admit Card
m the Invigilator.

;ﬁd&t at the indicated place in order to open the
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